
 

 

               Management Information System: 

Multiple Choice Questions & Answers:- 

 

1-The information of MIS comes from the 

a.Internal source 

b.External source 

c.Both internal and external source 

d.None of the above 

 

(Ans: c) 

 

2-The back bone of any organization is 

a.information 

b.employee 

c.management 

d.capital 

 

(Ans: a) 

  

3-AI is the short form of 

a.Artificial information 

b.Artificial intelligence 

c.Artificial integration 

d.None of the above 

 



 

 

(Ans: b) 

  

4-The advantage(s) of transistors are they 

a.Are portable 

b.Are more reliable 

c.Consume less power 

d.All of the above 

 

(Ans: d) 

  

5-The flow of information through MIS is 

a.need dependent 

b.organization dependent 

c.information dependent 

d.management dependent 

 

(Ans: a) 

  

6-The elements of control will consist of 

a.Authority, Direction, Management 

b.Authority, Direction, Information 

c.Authority, Application, Management 

d.Authority, Application, Information 

 

(Ans: a) 



 

 

  

7-Internal information for MIS may come from any one of the following department. 

a.Customers care department 

b.HR department 

c.Marketing department 

d.Production department 

 

(Ans: a) 

  

8-Audit gives details about ________ to Account Payable System 

a.Account balance 

b.Transaction 

c.Expenditure 

d.All of the above 

 

(Ans: a) 

  

9-One byte is made of 

a.Four bits 

b.Eight bits 

c.Twelve bits 

d.Sixteen bits 

 

(Ans: b) 

  



 

 

10-MIS normally found in a manufacturing organization will not be suitable in the ______. 

a.Service sector 

b.Banking sector 

c.Agriculture sector 

d.All of the above 

 

(Ans: a) 

  

11-_______ details are given by Management to Marketing Service System. 

a.Customer 

b.Employee 

c.Supplier 

d.None of the above 

 

(Ans: c) 

  

12-The basic component(s) of DSS is (are) 

a.Database 

b.Model base 

c.DSS software system 

d.All of the above 

 

(Ans: d) 

  

13-GDSS is the short form of 



 

 

a.Group Decision Support System 

b.Group Discussion Support System 

c.Group Decision Service System 

d.Group Discussion Support Source 

 

(Ans: a) 

  

14-Decision trees could be represented in different ways such as 

a.Bottom to top 

b.Left to right 

c.Top to bottom 

d.All of the above 

 

(Ans: d) 

  

15-The types of data transmission modes are 

a.Half duplex. , Duplex. , Singlex 

b.Half duplex. , Duplex. , Simplex 

c.Half duplex. , Duplex. , Half Singlex 

d.Singlex, duplex, half triplex 

 

(Ans: b) 

 

16-The information of MIS comes from the 

a.Internal source 



 

 

b.External source 

c.Both internal and external source 

d.None of the above 

 

(Ans: c) 

  

17-The back bone of any organization is 

a.information 

b.employee 

c.management 

d.capital 

 

(Ans: a) 

  

18-AI is the short form of 

a.Artificial information 

b.Artificial intelligence 

c.Artificial integration 

d.None of the above 

 

(Ans: b) 

 

19-The advantage(s) of transistors are they 

a.Are portable 

b.Are more reliable 



 

 

c.Consume less power 

d.All of the above 

 

(Ans: d) 

  

20-The flow of information through MIS is 

a.need dependent 

b.organization dependent 

c.information dependent 

d.management dependent 

 

(Ans: a) 

  

21-The elements of control will consist of 

a.Authority, Direction, Management 

b.Authority, Direction, Information 

c.Authority, Application, Management 

d.Authority, Application, Information 

 

(Ans: a 

  

22-Internal information for MIS may come from any one of the following department. 

a.Customers care department 

b.HR department 

c.Marketing department 



 

 

d.Production department 

 

(Ans: a) 

  

23-Audit gives details about ________ to Account Payable System 

a.Account balance 

b.Transaction 

c.Expenditure 

d.All of the above 

 

(Ans: a) 

  

24-One byte is made of 

a.Four bits 

b.Eight bits 

c.Twelve bits 

d.Sixteen bits 

 

(Ans: b) 

  

25-MIS normally found in a manufacturing organization will not be suitable in the ______. 

a.Service sector 

b.Banking sector 

c.Agriculture sector 

d.All of the above 



 

 

 

(Ans: a) 

 

26-_______ details are given by Management to Marketing Service System. 

a.Customer 

b.Employee 

c.Supplier 

d.None of the above 

 

(Ans: c) 

  

27-The basic component(s) of DSS is (are) 

a.Database 

b.Model base 

c.DSS software system 

d.All of the above 

 

(Ans: d) 

 

28-GDSS is the short form of 

a.Group Decision Support System 

b.Group Discussion Support System 

c.Group Decision Service System 

d.Group Discussion Support Source 

 



 

 

(Ans: a) 

  

29-Decision trees could be represented in different ways such as 

a.Bottom to top 

b.Left to right 

c.Top to bottom 

d.All of the above 

 

(Ans: d) 

  

30-The types of data transmission modes are 

a.Half duplex. , Duplex. , Singlex 

b.Half duplex. , Duplex. , Simplex 

c.Half duplex. , Duplex. , Half Singlex 

d.Singlex, duplex, half triplex 

 

(Ans: b) 

  

  

 

 

 

 

 

 



 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 


